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What is the ruling if he is unaware of this and this

OVERVIEW

X217 asked jmm1 21 what is the ruling if someone transgressed various NoX?»
on N2w, and he was not aware that today is Naw and he was also not aware
that these MoXn are 70X on Naw. Do we consider this naw oYy and he is
211 only one nXwur, or do we consider this Max%» 0¥ and he is 21 for each
7oK1, Ostensibly we can establish this query that he was aware of naw v
and that certain (other) maX?n are forbidden; it is just that he was not aware
that these particular maxX?n are (also) forbidden. m®0IN however maintains
that this query applies even when he was not aware of any N1oX?1 0K,
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The °"2 contends that even he was not aware of any ;8%» that is

forbidden on naw, nevertheless it is considered a case of ;111 ;13 2% -
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As is evident shortly where the X states regarding 5'7;° ‘his ruling is

acceptable if we maintain 1793 71 777 29w5 is 39m, ete.”?
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It is evident that even though he knew nothing about naw, nevertheless it

is considered 1 ;7 291, This proves that even if he did not know any max it is
considered a case of 11 17 0¥ and he will be 21 for each 179%%» according to the one
who maintains that 71 77 2797 is TR 2OK 27

mooIn responds to an anticipated difficulty:
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And it will be necessary to distinguish between this case of 1 11 o5

"It is not considered a case of naw Py W (who is N only one nXur in total). Moo will shortly
distinguish between the two. See ¥ 1"7 >"w" who seems to disagree for he says 727 maxoy'.

% Others omit "2 "' while others amend it to "Y'

3 »"3 derived from the mawn (which mentions thirty nine Mmaxy) that if one did all the 77X 2%¥72 MK
(meaning he was not aware that any of these N19X%1 are 70X on Naw) he is 2°°1 thirty-nine NXwm.

* The Jwpn assumed that since he was unaware of any naXo» M0°X, he was therefore unaware that it is naw
(in the sense that it is a day where one is forbidden to do certain M2ax%n). This is a case of 172 711 77 PV,
he is unaware that it is naw and is unaware that these n1oX77 are 70X, Nevertheless °"1 maintains he is 21
nnR 93K since N 77 02 is R 73K 270, If we would maintain however, that 7m 77 2797 is only when he is
aware of some MIX? (but not if he unaware of all the Mmax1), how would that explain the ruling of >"!
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(when he knows of no maRo» oK) where according to some he is 22X 2°n
nnXy nnX, and the case of naw 9psy now (one who forgets the entire

essence of Naw) where he is only 2°17 one nNXoM -
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For here (by 1 11 0%9n) he did not forget it to such an extent, because
when he is reminded of N2w he remembers naw (and MaxH» M0°X) -
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However the case of naw =p°y nowwn, that is a forgetfulness which is

similar to a child who was captured among the gentiles (who knows nothing
about n2w even when it is mentioned to him), similarly by a naw “p°v n2w; even when he
is reminded about N2w he has no recollection at all.

SUMMARY

7m 1 0%y includes a case where he is unaware of any mMaX%» MoK, provided
that when reminded he remembers; otherwise he is considered a Py W
naw and is only 2717 one 277 (even for many 2°n2w).

THINKING IT OVER

Why is there this difference between n2w 2°y n2wn where all agree that he
is 21 only one 1299, and by nm a1 09%vn (where he remembers when he is
reminded) that he is nnX 92X 21 (according to others)?6

> See ‘Thinking it over’.
% See ornax 1.
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